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Q.2 a. Evaluate Lim

(cosAx —COS ij

%LW%: o Lk ? ___j__L——f [ S Q};ﬁ, E

/ x>0 ('ﬂ;ﬁ)?‘v (ﬁj_q Loar (_;.,x E
amw-. (EVFA) (__E_:,_ﬁ_) b8 '_E_;_:r:)ﬂ Yx i’\u—"’@

a“f: ERICOLD

b. Expand €*in powers of (x + 3).
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Q.3 a. Evaluate J“/2+de
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b. Find the length of the curve x = acos®0,y = asin®0 , in the first quadrant
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Q.4 a. Separate into real and imaginary part of sec (x + iy)
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b. If two impedance Z; = 50 £—40° and Z, = 70 230%are connected in series, find the
total impedance in polar form.
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Q.5a. If a=i+2j-3kand b=3i-j+ 2k, show that 2+b and a—bare perpendicular to
each other. Also find the angle between 2a +b and d+2b.
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b. A rigid body is spinning with an angular velocity of 27 radian / sec about an axis
parallel to 2i+ j—2k passing through the point i+3j—k. Find the velocity of the point

whose position vector is 4i+8j+Kk.
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Q.6 a. Solve the equation 3 Z 2d—y+y xe*.sin x
X

dx
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b.  The deflection of a strut of length ¢ with one end (x = 0) build-in and the other
supported and subjected to end thrust P, satisfies the equation

d2y 2 a2R
dx—2+a yZT(f—X)

Prove that the deflection curve is y = %(S'” ax

—fcosax+£—x} , Where a/ =tana/

Ans Ex14.13, page 566 of B S Grewal

Q.7 a. Obtain the Fourier series to represent the function f(x) = |x| for-n<x<m

2
and hence deduce that n—:i+ 1 1 i+

12 32 52 72

© IETE



DES5/DC55 ENGINEERING MATHEMATICS-11 | DEC 2014

———

@*—[ o Son >

f—— — p w \( ll»t
eowe AC) = || = Jat] = jzw) e Abe foruied fer
l;\kﬁif'('xt) b g Bmes 07»9 hm : e o &
Cotas af OwpmaFerns . /F(x) e
96 : [,a&h"il UD’[\_QM (qoz'
Ae -+ 7 (‘1'\ A MmN A —
e ) =T Bed O A J )
‘M 4"‘/57;41\0&5&) o»; 1, we Pave
A . =

DL A ). = A < o
__,9 Ap» = , 9 e N -
/:?ﬁ i /T' ?‘:’. Z,. ,_O):/ﬁ-"ﬂ..—;/ /X_ m
4 . = P = 2
- AT R " |eo
.";\GLULC"/
@Qk./mamﬁhcm :

2 Ar—
ah° 5 (A&V( )@»g'rwt

At

= By = — ery( o e e
= ﬁ g CosM Y
SW?L A -

o]
C&ghn’i— = - <C,¢£-'ﬂﬁ"
= -L W

:

) — s

) . ﬁ{).. et VJ LAeas

© IETE



DES5/DC55 ENGINEERING MATHEMATICS-II | DEC 2014

Q.Ma,,_r,}qh\t\,\f o votiet OF Co QW T ,\Liw
f’\LX_ B’ﬂ_ﬂl”\. 61 ' | [
%éo's'l— (_f’t"?_—fi-_%i; —p%—“*" gg““"@
i s
‘7.- 7{‘

- l/) C,cf?’?%'\ DS ) t__.‘;f 7\_ ( e !
“D JRIEEEN L

/Z”M"’/H 3,( -
)c’fi—r— _— O , = ;F(D)-:,}b]':zo

“Thoo - Sern <—'?f' Flex .
o O/LM,MA L——«r—:"j g\@" iuni

~‘—¥1\8
' ‘K’%f?t%’f*%’v?*?’ NS
— = i : v = A Ag
o= A e e ==
a——. _L — a2 -+ %'), o
== S W

b.  Find the Fourier series for the function f(x) = x in the interval [, 7]
o b o
6-&'—5"—_— = arrn OAA %fw‘ct«cm o M“"fq“”'
(:(.R_M’Q‘ 4("‘) —n B <9 Vean—
b /2,« o8 oo OO0 ?‘”{‘ﬂ o ﬁwgfg(m A
1 oA <1
o« bv) St~ NP e e bv) /,r ‘(QFF(*)Q‘;TIM’

o)
et > & (=4, )

— N - Conhonpiun>

%‘:ﬂu ‘ﬂ{("“ /‘?-,zf(\r& 6?‘;?(1[) Corwrrfel 2

rr\,e-f

- — 7 b_ e Q'\M"IN o), ==
= } D= L~onre_
Lo~ A—V\b\cn

2= ;?(%)X‘AM"Y)’)"FM‘
': K A
>
7 ")’r‘,_ '2—- ‘() rw/i’;m/"h [ (’aShﬁ_ g‘w%
g ( .
=y l”)* /"T¢ e = T -

o\

_/4%#,;2—‘(0%7173“#_’% -—L)n)—?f'* o

== A A e obtarn
/émb/&’bw \/vd.»\y\sj -LLL vx@ .a& by 5 10, A

= ) . ng N N
‘7,- vy ; 2
%TH;L ﬂ*wx-[”&wﬁ»nr{—&“gnr— 2w~4n+f
s
An Ho fBeder Sericl 2
9

© IETE



DES5/DC55 ENGINEERING MATHEMATICS-11 | DEC 2014

Q.8 a. Findthe Laplace transform of (3 sin t — cos?t)
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Text book
1. Engineering mathematics —Dr. B.S.Grewal, 12th edition 2007, Khanna publishers, Delhi

2. Engineering Mathematics — H.K.Dass, S. Chand and Company Ltd, 13th Revised
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